T 3EEANFE HERERERE

4 0 ilEi e s

EPE ERE: oy -
g i = %g = %z ¥ fr % 3
i s B T R Rl E R T Fa R R EN R T
] EFERE 4 5 5 5 5 5
e BB 4 2 2 3 2 2 2 5 4 4 4
OB 4 3 2 5 4 3 1 8 7 5 3
o [HERREEA 2 2 2 2 2 2
O EB 4 4 4| 4+ 8 —| 8-
JE JEAREEA 2 2 2 2 2 2
S [EASB 4 4 44 4 - 8- 8-
N HAHES 2 2 - 2 m 2 = 2 m 2 = 2 = 2 = 2 =
i B 2 oAl A2 Al A2 Al 242 d[2 4
K BR - R 2 2 2 2 2 2 2
By 1 3 2 2 2 2 2
el 4 2 3 2 5 5 4 4
i el 5 3 4 5 7 8
B A 2 2 2 2 2 2
BB 2 3 2 3 3 2 2
o B 2 1 1
T [REEKEA 2 2 2 2 2
WEH 7B 3 3 3
waEFC 3 3 3 3 3
Wy R L 2 2 2 2 2 2
L7 4 3 39| 4 - 6| 7-
I ke 0] 2 2 2 2 2 2 2
b5 4 2 4 3 6 5
LE W) FLAE 2 2 2 2 2 2
B | 4 3 3| 4 - 64| 7-
PRBL R I 1 1 1
i FERR) 4 1 3 3 4 4
R AESE 7~38|f 2 2 2 3 3 3 3 7 7 7 7
& F |RE 2 1 1 1 2 2 2 2
2 g 2 19 19 15 2] 29[ 29 2+
RES R 2 Tl 1l 14 24l 24[ 24] 21
U EBER o 13 3] 12 oI o[ 2] 2=
Razh—Y 3/ aE 1 3 4 4 4 4 4
yF:uﬁww%%H 4 4 4 4 4 4 4
13anh—y g/ EE 4 4 4 3 3 4 4 3 3
s |PERRRILT 2 2 2 2 2 2
B EEESN Pl 2 2 3 3 3 3 5 5 5 5
KT | FREFEAE 2 2 2 2 2 2
15 S G 2 1 1 1 2 2 2 2
FRES | 78— I\ )L— A5 ) 3 1 1 1 1 3 3 3 3
e (ER) o3 ~6] 1 1 1 1 3 3 3 3
&t 33 33 33 33 33 33 33 99 99 99 99

(1)

[[E3] HED TREEEFA]
(4] FB12EOT 1) .

B MeIEE) & HEs 13,

XTI RN a—2 I

DEAN R a— 2 BT [EANEM -2 BT AN B o —X
[E2] _ @A A %S, TC1RAZ®RIRT 5,
& B J

(HOEAL ) L THCEIL) | B2 SEREO (BRI & THCOEIL
“OR A EBET 5.

ATORE 2 RIZBELTZOBIT,

MRC) . ROHEFO DR 13, PRHRERHE Th D,




